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Examination 2022

[Roll Number

Candidate Name

Venue Name

Exam Date 01/10/2022
Exam Time 2:00 PM - 4:00 PM
Subject Junior Hindi Translator Paper |

Section : General Hindi

Q.1 Frafifed 3 @ dgd T 72

Ans X 1.98
X 2. Pifdpd
X 3.

4. PG

Question ID :
Status
Chosen Option :

26433094454

: Answered

1

Q.2 3 e wafaard! 82

Ans X' 1. 9lcd
o 2. BRI
X 3.9
X4
Question ID : 26433094336
Status : Answered
Chosen Option : 2
Q3 T IHT W H RT ?1 fraa wm & e Iuga 2reg a1 ghmT?
Ans X 1. foRT
2. B
< 3.78
X 43P0
Question ID : 26433094440
Status : Answered
Chosen Option : 2
Q4 W fFae! faew e 82
Ans g1 a5
X 2.9
X 3. 35T
X 4.9R
Question ID : 26433094342
Status : Answered

Chosen Option :

1
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Q5 3IF A A RAR & feaa R & g Sugea 2eg &1 e
Ans 71 S

X 2.fi

X 3.3dR

X 4.3@

Question ID : 26433094442
Status : Answered
Chosen Option : 1

Q6 Wt fram fae weg 32
Ans ¢1_ﬁﬁﬁ

X 2. Sffaerifad

X 3. Ul

X 4. dfea

Question ID : 26433094450
Status : Answered
Chosen Option : 1

Q.7 yufy @t =R} A SH-a1 gw gafea T8 22
Ans X 1. IR — YRl

X 2. T — Harte

o 3. T — SIIgd!

X 4. gt —gan

Question ID : 26433094448
Status : Not Answered
Chosen Option : --

Q.8 «dqr 9gd ¥R sl 1’ arey A b faiwor @ 82
Ans X 1.8

2.5

X 3.4

X 4. 3redt

Question ID : 26433094436
Status : Answered
Chosen Option : 2

Q9 E MY 99 # UE’ AT BT P10 HI-A1 82
Ans X 1. GHG Hidw

X 2. MR adAE

X 3. Gyreg Hfaw

o 4. 5qHg Uiaw

Question ID : 26433094330
Status : Not Answered
Chosen Option : --
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Q.10 ffyar &1 agae= w1 gm?
Ans (1.%‘%?17

X 2. fefaansit

X 3. fefm

X 4 fefed

Question ID : 26433094316
Status : Answered
Chosen Option : 1

Q.11 et 9= 41D gorm & areiy & fIg Ue w1 1 32
Ans X 1. Qd9

o 2. 59

X 3.9R

X 4. SFIS

Question ID : 26433094354
Status : Answered
Chosen Option : 1

Q.12 g IRT & daa g1 fYaa ®I & 1Y Suged Wee w1 ERIT?
Ans X 1.@Hd

X 2.T8q

X 3. 4T

43018

Question ID : 26433094332
Status : Answered
Chosen Option : 4

Q.13 fPofifEd § | $19-91 I iy &1 yafgar 82
Ans X 1. 4wl

X 2. faurar

X 3.fay

o 4. M@l

Question ID : 26433094446
Status : Answered
Chosen Option : 2

Q.14 qrgd g UeR &1 fagyor 872
Ans X 1. uRETOEIYS

o 2. TUEES

X 3. THERD

X 4. grdite

Question ID : 26433094312
Status : Answered
Chosen Option : 4
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Q.15 PEfifEd & § $149-91 2 T T8 27
Ans o 1.3

X 2.9%

<35

X 4.9cH

Question ID : 26433094456
Status : Answered
Chosen Option : 4

Q.16 74T (1) ® (2) AW (3) SISl (4) | Vg WIS aTey H A9 TITAT BT Tl HH T N2
Ans X 1.1,4,2,3

X 24,231
X 3.3,4,21
& 4.1,3,42

Question ID : 26433094492
Status : Answered
Chosen Option : 4

Q17 SRATE (1) A (2) UTT (3) B (4) BT (5) TF (6) | TR TWiSd 197 F 54 TS (1) 3R
(2) & 9T T YT BT TgT HH T §RM?
Ans X 1.3,5,6,4

X 253,64
3.6,4,35
< 4.6,4,53

Question ID : 26433094490
Status : Answered
Chosen Option : 3

Q.18 ARy HT T Wf-fadg A F?
Ans 71 T+ Y

X 2.3 S

X 3.0y

XA+

Question ID : 26433094464
Status : Answered
Chosen Option : 1

Q.19 g # Yo 3@ F S AP o1 weh o FaT 32
Ans X 1. TG § S5PHR SIRT HAT

7 2. YT B a1d & Ul ST

X 3. gFAI A a1 A geet A

o 4. UA B W gFal

Question ID : 26433094364
Status : Answered
Chosen Option : 4
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Q.20 Fyfafed & | SI=-91 a1 Y 82
Ans X 1. TEoH R 4G BRI

X 2. oo BT HGT |

2 3. oo BT HGT @l

o 4. TSI IR g 3|

Question ID : 26433094414
Status : Answered
Chosen Option : 4

Q.21 Fyfafead & | Si9-91 a1 Y 82
Ans X 1. fhde d g A0 & Sa g3
2. T ¥ gAY €1 &1 Sitd g3 |
X 3. b o g &1 &7 ofid ga|
X 4. fohbe H gHRI €19 o witd Ul

Question ID : 26433094304
Status : Answered
Chosen Option : 2

Q.22 g1 fde | 9TeR FArpar a1 § SH-91 RS 82
Ans X 1. 3fIHRr

X 2.0

< 3. 99aH

o 4. JUTEH

Question ID : 26433094318
Status : Answered
Chosen Option : 2

Q.23 qﬁganrg’ru)a:{’r(z)agm@)ﬂﬁm)luﬁa@%aamﬁammwmﬂé’rm
HIT ERIT?

Ans X 1.32,14
X 2.423,1
X 3.1423
& 4.4321

Question ID : 26433094386
Status : Answered
Chosen Option : 4

Q.24 qﬁag#nfhav{(z)w(s)wﬁm)l TGS a1 § 919 TREAT B 98 HH
T gI?

Ans X 1.2,4,1,3
&2.4,1,32
X 3.4,31,2
X 4.1,34,2

Question ID : 26433094494
Status : Answered
Chosen Option : 2
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Q.25 fgfafed & | Si9-91 a1 Y 82
Ans X' 1. 7g TN 1 BBl 87

X 2. U8 O T HEd 82

7< 3. T AN T Heal 872

o 4. AT T Hed 82

Question ID : 26433094302
Status : Answered
Chosen Option : 4

Q.26 gd-it BT &Y V FI-T1 g Y T8 82
Ans X 1. 3Tchi&l

2. FRe

75 3. b0

X 4. 3Uae

Question ID : 26433094458
Status : Not Answered
Chosen Option : --

Q.27 gufgar ¥t = & F-91 g gafea 76 2
Ans X' 1.9d - 3qdh

X 2. 7dl - padW

o 3. Wl — gfgar

X 4.9R - A&

Question ID : 26433094340
Status : Not Answered
Chosen Option : --

Q.28 gfe gwa gHT o & R Suge Heraw w1 22
Ans X 1. TIAHR ST

o 2. TS SBH
X 3.7 fearn
X 4. T ST

Question ID : 26433094470
Status : Answered
Chosen Option : 2

Q.29 fafafaa & ¥ sraiw guf Hi=-a1 82
Ans X' 1.9
R
X349
S49

Question ID : 26433094324
Status : Answered
Chosen Option : 1
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Q.30 il HH ST ¥’ I F T TP e AT 872
Ans X 1. 9§

o 2. T

53,8

X 4. Tdy

Question ID : 26433094460
Status : Answered
Chosen Option : 2

Q.31 Fgfafed & | Si9-91 a1 I 82

Ans X 1. gAR) udenal & ey & e =R
X 2. 3R wienait # e & S anfeul
2 3. R udtensft o1 ey fE g =R
o 4. T uiemait o1 mem R g wnfgu

Question ID : 26433094416
Status : Answered
Chosen Option : 4

Q.32 fgfifaa # & H-3t fopar iomds frar 82
Ans X 1. 9MT

X 2. e
o 3. YA
X 4. v

Question ID : 26433094314
Status : Not Answered
Chosen Option : --

Q.33 fFrafifEd & § SH-91 999 T= 82
Ans X 1. FRd P IQTT IYT TS|

X 2. TR BT 9RIT1 IYS TS|

o 3. T &I SRETT IYS T

X 4. PR B IRITT IYUS T4

Question ID : 26433094418
Status : Answered
Chosen Option : 1

Q.34 3T 9gd W Tad! g 1’ ared ¥ forar fasiaor #m @2
Ans X 1.%

X 2. Tad

X 3. ST

o 4. Tga AW

Question ID : 26433094328
Status : Answered
Chosen Option : 4
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Q.35 Y + 31 P AU F P91 Wsg T2
Ans X 1. HUY

X 2. HiU™

o 3. HU

X 4. HuR

Question ID : 26433094356
Status : Answered
Chosen Option : 2

Q.36 S} HET AT &’ IR & T TP e T 272
Ans gz 1 BT

x 2. fafea

< 3.fed

X 4. TP

Question ID : 26433094352
Status : Answered
Chosen Option : 1

Q.37 1 (1) TEdl (2) B (3) R (4) | IR WiSd aTe H qTay T BT Tl HH T N2
Ans X 1.2,314

X 214372
X 3.423,1
& 4.1423

Question ID : 26433094384
Status : Answered
Chosen Option : 4

Q.38 fgfifad 3 A S-91 e AT BT Taigar 82
Ans X 1. &R

X 2. gfaa

X 3.3t

o 4. TP

Question ID : 26433094338
Status : Answered
Chosen Option : 2

Q.39 il YheHT TAR BT & AT & ¢ TP Weg 1 EN1?
Ans X 1. 3fferger

o 2. 71t
X 3. siftrgad
X 4. ufgaret

Question ID : 26433094462
Status : Answered
Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.40 Ha1 7 (1) B FHb1ar (2) SHH A (3) AU FTY A (4) | UG WIS IR | AT T BT

g PH T BRI?
Ans X 1.14372

X 2.341.2
o 3.1,342
X 4.431.2

Question ID : 26433094387
Status : Answered
Chosen Option : 1

Q41 Fgfafead & Si9-91 a1 I 82
Ans X 1. g0 fhat B8 &l g1 us
o 2. B0 fha oy g U
X 3. 7 5 &% & wed Ul
X 4. &H foba ¥l Bl g1 US|

Question ID : 26433094310
Status : Answered
Chosen Option : 2

Q42 g F1 HEl WiI-fawse Far g
Ans K198 + 3HA

2. 98 + 3

< 3.9C + 3

o 4.9C + 31

Question ID : 26433094358
Status : Answered
Chosen Option : 4

Q.43 Tt g yeR @1 fa=igor 82
Ans X 1. GBGTES

X 2. et

o 3. UEES

X 4. gRETUEIYS

Question ID : 26433094420
Status : Answered
Chosen Option : 4

Q.44 T H HIF-91 GHN 872
Ans X' 1.¢g
o 2. Tgoifg
X 3. 3feqdt UG
x4

Question ID : 26433094360
Status : Answered
Chosen Option : 3
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Q45 fgfafead & § Si9-91 a1 Y 82
Ans 1. 7Y IR A g ot B
X 2. T ORt fpde ug ot 71

% 3. 57 3 9t s ug fean 21
X 4. A9 fpad ug A7)

Question ID : 26433094306
Status : Answered
Chosen Option : 1

Q.46 fFrafifEd & § SH-91 Teg dwrd T8 82
Ans X 1. TH

X 2. @\

& 3.7

X 4. T

Question ID : 26433094348
Status : Answered
Chosen Option : 2

Q.47 Y UE IET & AT BT BT T &2
Ans 1. TIPS TAHH

X 2. guf gduH

X 3. MR adHE

X 4. fewy adam

Question ID : 26433094434
Status : Answered
Chosen Option : 2

Q.48 Fyfafad & | Hi=-91 a1 Y 82
Ans X 1. 3fRd @M @I 5

o 2. Rd | End gl

X 3. 3iRd T T B

X 4. 3RA @A A B

Question ID : 26433094308
Status : Answered
Chosen Option : 2

Q.49 f§dY (1) TTARM (2) fafar & (3) =il (4) @ (5) Foreht (6) 1| W WS ara & 9 w@AT (1)
3R (2) F e AT T BT WY HH T GRI?

Ans o 1.3645
< 2.3564
/< 3.36,54
K 4.4563

Question ID : 26433094380
Status : Answered
Chosen Option : 1
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Q50 UGN gRI B RR AT __ g2 Raa ®i= & e Sugaa 2rsg 1 g2
Ans X 1. Tdd
o 2. T3d
X 3.9sd
X 4. Sed

Question ID : 26433094334
Status : Answered
Chosen Option : 2

Q.51 fgfifad d & SreuyTor S HIH-41 82
Ans X' 1.3

&2.F

X 3.9

X 4.9

Question ID : 26433094430
Status : Answered
Chosen Option : 1

Q.52 Tdf Y = A B T I T B2
Ans X1.ﬁ'ﬁﬂﬁlﬁ

X 2. 5™

X 3. PR

o 4. ST

Question ID : 26433094350
Status : Answered
Chosen Option : 1

Q.53 fFrafifEd & § SH-91 a9 = 82
Ans X 1.9 3T 3T

7< 2. 98 3TN 31T

o 3. TT TS ST

2 4.3 3T 3T

Question ID : 26433094410
Status : Answered
Chosen Option : 3

Q.54 gt P71 A wiy-fa=dq @ grme
Ans X 1.9g + uif

o 2. T + U

XS.T-IT.‘{+%IICI

X 4.9d + o

Question ID : 26433094466
Status : Answered
Chosen Option : 1
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Q.55 ¥R & weten wear 3 ¥ Rig Suged geraRT |1 R?
Ans X 1. T JoHT

X 2. o e TR <
X 3. 7a fgan
o 4. 1Tl i

Question ID : 26433094362
Status : Answered
Chosen Option : 4

(2) & SIS T YT BT Tg1 HH T 8R?
Ans # 1.4653
X 2.4536
X 3.4356
X 4.6534

Q.56 aﬂﬁrq'mu)an(;)ﬁm(3)qm(4)qéf(5)m%(s)lwﬁﬁamﬁmmmsﬁ?

Question ID : 26433094378
Status : Answered
Chosen Option : 1

Q.57 Hg Bd B, A Wierg B Abifad &1 et 3rdf 71 82
Ans X 1. Sl Sgl T, a8 JHS T

X 2. % T 9 T o

o 3. BE TS T 3R JHH $S 7T

X 4. & HEf 3R BT

Question ID : 26433094472
Status : Answered
Chosen Option : 3

Q.58 qg Ugdl ¥’ AT BT HTd BIH-1T 82
Ans X 1. quf gciHM

o 2. I 949

X 3. I ygeIa

X 4. IS aaa=

Question ID : 26433094326
Status : Answered
Chosen Option : 2

Q.59 fgfafaa & J sraiw of ST 82
Ans 7 1.9

X 249

X 3.7

X 4.d

Question ID : 26433094432
Status : Answered
Chosen Option : 3
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Q.60 ‘THITP’ § PI--91 THN 82

Ans

X 1.58

X 2. dgeY
o 3. e
X 451

Question ID : 26433094468
Status : Answered
Chosen Option : 1

Q.61 fFufifad § @ o-u1 T Wk a2

Ans

X 1.9
X 2. °TeRT
£53.919
o 4. T

Question ID : 26433094428
Status : Answered
Chosen Option : 4

Q.62 T et fei 2reg §2

Ans

X 1. 3myd
o 2.7d
X 3. UE
X 4R

Question ID : 26433094344
Status : Answered
Chosen Option : 2

Q.63 ‘RIfSar o1 ga== 1 gh?

Ans

X 1. fafeanaft
2. ffsar
X 3. Ry
X 4. fafsa

Question ID : 26433094424
Status : Answered
Chosen Option : 2

Q.64 fgffaa # & H-3t fopar tvomds fra 82

Ans

o 1. far
X 2.
X3,
X 4. SRFI

Question ID : 26433094422
Status : Not Answered
Chosen Option : --
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Q.65 fgfafed & | HI=-91 a1 Y 82
Ans 1. 98 S-SXd W H gl

X 2. 98 Sdl-ed W H gt

X 3. 98 S-Sl WA g

X 4. 98 S-Sl W H gl

Question ID : 26433094412
Status : Answered
Chosen Option : 4

Comprehension:

AT TS &1 e auft Wyd § o9 397 Tes e 780 &1 81 wRd & +ff Rien &t 1poramn w
=fPuTd B¥ df gduUH AR eRuy ¥ Afeh-ra Bl Rien 3 o3 Wy uRaféa 8k 2, el a8
T & fireran @ 6 Tepd ugfa # Rt &t T Wit i 3! ufaut & SR R ST
JufRfa giet ot | a1 Ug & o Bt @t Tl W e iU unddar R e faa S

Tl
FrafaRad ust & ST ST MY F MUR R SR

SubQuestion No : 66
Q.66 TrIw A& BT FIT ST 32
Ans X 1. 3= fRrem
X 2. SawIe fRrem
o 3. 3 e
X 4. 3g=niee fRren

Question ID : 26433094393
Status : Answered
Chosen Option : 4

Comprehension:

TG TS &1 e auft Syd § o9 397 Tes Riem 980 &1 81 WRd & +ff fRien &t qoramn w
=fPurd B¥ df gduUH AR eRuy ¥ Afeh-abra @1 Rien Y o3 Wy uRaféra g 2, el a8
T &1 fireran @ 6 Tepd ugfa # Rt &t T Wit i 3! ufaut & SR R ST
JufRufa giet ot | AT Ug § b B &t ST R T8l iU unedar IR e faa S

|
frofefed usl & SR STad TN & SMYR WR -

SubQuestion No : 67

Q.67 Twga A Rl & 9T BT YR T UT?

Ans X 1. 989
o 2. TfaHr
X 3.9
X 4.¥7

Question ID : 26433094391
Status : Answered
Chosen Option : 2
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Comprehension:

A TS H e auft Tua § STd ST Teds R T80 o g1 YR § f e 31 quren R
=fyurd 3 At Ty gaR =Buy # dfes-wra 3t Rien 3 oy wy uRaféd gt 8, st ae
T & e @ 6 Trgd ugfa A Rt ot T Wit B 39wt ufaun & SR R 3T
IufRfa giet ot | AT Ug § o B @t Gl iR 8T iU undwar 1R e faa S
|
FrafaRed ust & ST Suda MY F MUR | -
SubQuestion No : 68
Q.68 TEa Usfa A Rl it wen e gkt &
Ans }(1,35?-[@1131
X 2. 7FUg
o 3. 51

X 4.

Question ID : 26433094389
Status : Answered
Chosen Option : 2

Comprehension:

AHa TS H e auft Tua § STd ST Teds R T80 o g1 WRa § e 31 quren R
=fyurd o3 At Ty gaR =Buy # dfes-ora 3t Rien 3t oy wy uRaféd St 8, e 7
T & fireran @ 6 Tepd ugfa A Rt &t T it i 3! ufqut & SR R ST
JufRfa giet ot | AT Ug & o B Bt Gl R e iU undwar 1R e faar S
|
Frafafed usi & ST Suda MY F MUR | SR
SubQuestion No : 69
Q.69 Twge A fpueT T T4 SIar UT?
Ans X 1 J-AT DI
X 2. gaxdi &1
o 3. Ul BT
X 4. TG BT

Question ID : 26433094390
Status : Answered
Chosen Option : 3

Comprehension:
A TS B e axft Gua § STd Su Tre e T80 o g1 YR F f e 31 quren R
ZfPurd B¥ df YUUH AR eRuy § Afeh-cbrat @1 Rien 3 o3 Wy uRaféra 8 2, el a8
T &1 e @ b Tegd ugfa A Rt ot T Wit 0 39wt ufaun & SR R 3T
IufRfa giet ot | a1 ag & b B @t Tl IR 8T 3ifig unddar WR e faar S
|
frofefed usl & SR STad TN & 3R W -
SubQuestion No : 70
Q.70 3y &1 T I 22
Ans X 1. gUUl
2. A
X 3.9
X 4.2

Question ID : 26433094392
Status : Answered
Chosen Option : 2
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Q.71
Ans

Comprehension:

T 1857 B TG ifd 4 T8 ot VAT R g1 e o i URaay St onnft da fafirat yroar wifaaat
&1 Ueb AR = YT, Teb Jeiet fae =il diepd b $fefiF Teb Y b w0 H fay & FoI R IR
TET 1| T U5l U 9gd 991 9 98 +ff o1 fb Wk B fafte & & sraT-sre wrg wfaar o,
IR MY Apaie Y & U H 1 TP AP & U & IUP! UgdH 87 Tal B2 9od ¢ | Tg
TP ORI IRepfaw, ufifer SR Iriorg @t SiaufRT 39 U oe<a T H 3G &l 2|
FrafaRed usil & ST ST MY F MUR | SR
SubQuestion No : 71
T BT A 34 82

X 1. e

2. 9§

X 3.8

X 4 ud

Question ID : 26433094404
Status : Answered
Chosen Option : 2

Q.72
Ans

Comprehension:
T 1857 B TG ifd 4 T8 ot VAT 5 g1 ez o i URaay St onnft da fafirat Iroar wifaa
&1 Ueb BHHAR =g YT, Ueb Yeiet fae =il diepd b $fefiF Teb Y b w0 H fay & FoRI R IR
TET 1| T U5l U 9gd 991 9 I8 ff o1 fb W T fafte & 7 Sra-sre vy wifaar o,
IR MY Apdie Y & 4 H 1 TP AP & U & IuP! UgdH 51 Tal B2 9ohd gl T
TP ORI IRepfaw, urfifer SR o @t SiaufRT 3 U 3w T H 3ag &l 2|
Frafared usl & ST ST MY F MUR | SR
SubQuestion No : 72
TR & aH § SIH-91 FYT 3T 27

< 1. R e = & srefie

X 2.1857 T qd YRT H S{elT-31ehT Irorraar o]

7 3. YR URGpfas ©U J Th I § oerr 1|

o 4. 1857 ¥ d YRd | dlidbaa Ul

Question ID : 26433094402
Status : Answered
Chosen Option : 4

Comprehension:

T 1857 BI TG Sifdl = T8 ol VAU B &1 &z o1 {5 yRdad <t ot aa fafirar I wifdaat
1 T HHVR JH= U, T Yeiet fa=il drehel o el Tep Y o 0 H fay &b Ta ;R IR
TgT T gofy U5 U Sgd So1 9 U8 Ht o7 fob YR o fafvrsr & o srerT-sran wrog wifckar of,
IR MY Apdie Y & 4 H 1 TH AP & U & IUP! UgdH 51 Tal B2 9od g | Tg
TP ORI IRepfas, ufifer SR TroRg @t SiaufRT 3 U oe<a T # 3ag &l 2|
FrafaRad vl & ST ST MY & SMUR R -

SubQuestion No : 73

Q.73 Ty &1 R 34 a1 27

Ans

X 1. fpur - fagle
X 2. Tifaw fage
X 3.5 fasie
4. 3 fagie

Question ID : 26433094405
Status : Answered
Chosen Option : 4
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Q.74
Ans

Comprehension:
T 1857 B TG ifd 4 T8 ot VAT R g1 e o i URaay St onnft da fafirat yroar wifaaat
1 T HHVR JH= U, T Yeiel fa=l e o 3fefiF Tep Y o w0 H fay b o ;R IR
T oT| T U8f U §gd o1 U I8 ft o1 fb WRa # fafta &3 & srem-sren Irsy wifdaaf o,
IR MY Apaie Y & U H 1 TP AP & U & ITP! UgdH 51 Tal B2 9ohd g | Tg
T ORI IRl ufifer SR o @t SiauiRT 3 U 3w T H sag w2
fofefad usl & SR STad TN & 3R W -

SubQuestion No : 74
T 1857 & 918 YR fay F 7o W fry =0 A IUR TeT Y12

X1 &

X 2.7

X 3.3W

43¢

Question ID : 26433094401
Status : Answered
Chosen Option : 4

Q.75
Ans

Comprehension:
T 1857 BT TR Hifd 3 I Ol RITId B & fear ot for yRead St st 9o fafier wrsa wifdat
&1 Ueb BHHAR =g YT, Ueb Yeiet fae =il diepd b $fefiF Teb Y b w0 H fay & FoRI R IR
T 4TI T U8T U §gd 81 U I8 it o1 fb WRa o faftre & & Srem-sren Xrsy wifdaar o,
IR MY Apdie Y & U H 1 TP AP & U & IuP! UgdH 51 Tal B2 Iohd gl Ty
TP ORIy IRepfas, ufifer SR o @t SiaufRT 3 U oe<d T H 3G &l ot
frofefed usl & SR STad TN & 3R W -
SubQuestion No : 75
3G PT HT AT 82

o 1.T¢ T

X 2. Ubud

X 3. FHAR U

X 4. g §yY

Question ID : 26433094403
Status : Answered
Chosen Option : 1

Q.76 a1 A 7= T aAd T@r aTH | 3Wied 4 T HH-1 RS 82

Ans

< 1. 99y
& 2.5
72X 3. 99aH
X 4. U

Question ID : 26433094426
Status : Answered
Chosen Option : 2

Q.77 fgfifad d & SreuyTor S HIH-4T1 82

Ans

X 1.3
X229
X349
& 4T

Question ID : 26433094322
Status : Answered
Chosen Option : 4
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Q.78 fgfafad & @ Fi-u1 3 AR 32
Ans & 1. T8
X 2. e
3. T9d
X 4. TTciEn

Question ID : 26433094320
Status : Answered
Chosen Option : 3

Q.79 ‘gg T E I BT BTA T 82
Ans X 1. ERI adqH

X 2. dfery aefom

X 3. dIIferd aaaE

o 4. THTH TdAH

Question ID : 26433094438
Status : Answered
Chosen Option : 2

Q.80 AHSI (1) HTWTE (2) TUE H (3) MY (4) THTH P (5) AT (6) | TRgd Wisd I § HH TST (1)
3R (2) P TTC aT G BT TS! hH FGT G2

Ans X 1.3,6,4,5
& 2.5,3,64
X 3.3,56,4
X 4.5,3,4,6

Question ID : 26433094488
Status : Answered
Chosen Option : 2

Q.81 3 (1) faermer (2) & (3) FYer® (4) 3T (5) € (6)| WRgd Wisd arey § HH =T (1) 3R
(2) & SIS AT AT BT el HH FT ERI?

Ans o 1.3,4,56
£ 235,64
/< 3.3,6,54
K 4.4,3,56

Question ID : 26433094486
Status : Answered
Chosen Option : 1

Q.82 g fpwret faeiv g 22
Ans g 1 3ffU®

X 2.39

X 3.

X 4,99

Question ID : 26433094452
Status : Answered
Chosen Option : 1
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Q.83

Ans

fFrafafaa & @ dga T FH-AT18?
& 1. PF
o 2. BT
X 3. P
X 4. FaH

Question ID : 26433094346
Status : Answered
Chosen Option : 1

Q.84 [yr AT yafaard 82

Ans

XK1
o 2. 3d
X 3.
X 4.4

Question ID : 26433094444
Status : Answered
Chosen Option : 3

Q.85 TG (1) P (2) P (3) Peicd (4) P (5) 3G (6)| TRgd Tied a1 § v T8I (1) 3R

Ans

(2) & SIS AT AT HT el HH T TR?
X 1.6345

& 2.5643
X 3.364,5
X 4.5436

Question ID : 26433094382
Status : Answered
Chosen Option : 2

Comprehension:

SRI STRT SHATARY SR H & TABRI TR s 5 32 & 9 Herd & RIuTeh Sroeit SRat ot
a9 3% a3 31 33 dal & YRdg gRYS B aa-il &1 388 YR TASTRET g™ &
TF HifdHRI g1 g1 “31d o8 $g 98 §:Wfe g fG@Ts | 8T 81 HRd =N 7 Sl oI I’ 3%
TP YR fRUfd & 39 aufF 3 7 S et emfal 5 Y9d TR o1 37T BR 3l &
TadTa 51 T IR S WY Bt fRufadt & aR & Jogar ug fAvfedr 3 forem & Iy € e,
TIHTYT YT SIHIGT B 3feRg S |

Frofifad sl & ST Iudad T & SMUR W -

SubQuestion No : 86

Q.86 eI W YA “HeraTaT BT FT TT 82

Ans

X 1. T
X 2. Ug%
X 3. gude
o 4. 3ar

Question ID : 26433094503
Status : Answered
Chosen Option : 4
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Comprehension:

3T ST AR 3R B § DRI IR RIebo 4 I & T81 e b FquTE! 30t et b
A 3¢ a6 U1 SH Hal H URAG gRYS BT gl &1 3d URATI TABINT Siagr &
TP HifdpR] g1 g1 *3fd Oe SUE 9 ¢ 98 g IS | 818N HRA Ga M - ol o1 I' 37
qpTE YR RUTY & 39 quia 3 9 o forat emfat & Yo YR & SIId B ATSIET BT
Taaren a1 faan| 3= 39 v o fufaat & IR o Toar ud FRafferar 3 feras & Ty € W@,
TGUTYT JUT SRIHAT BT ST ST |

fraffad vl & IR SWad TR & YR WR -

SubQuestion No : 87
Q.87 afrzr &1 Y g ¥2
Ans X 1. g
X 2.2
o 3. TR
X 4 W

Question ID : 26433094505
Status : Answered

Chosen Option : 3

Comprehension:

3T T AR 3R B DRI IR bt 4 I & I81 e b (RAuTE! 30t A=t b
=T § 3% fUadn 35 31 9 Sl H YRdg SRS & aaH! 1 35 R TSR Sfagr &
TP HifdpRl g1 8| *3fd 5e $UE 9 ¢ 98 g IS | 8181 HRA Ga 0 - ol o1 I' 37
AHTAH YR fUfq & 39 qufF 7 7 I et emfal 3 Y9d $aR &1 S R el
TAaTe & foaT| IR 39 Ty ! fRufaat & ar o wear e fferar 3 forem & ary & wew,
TUTHT qUT SR TR 1 Sierg S|

fraffad vl & SR SWad TR & SR WR -

SubQuestion No : 88
Q.88 e & RyuTEt & fwrept woba 872
Ans X 1. Ryl oIk Fadh
7 2. 3iftraaar 3R Rifvs
o 3. TGH 3R THHR
2 4. ST 3R HifdHRY

Chosen Option : 3

Question ID : 26433094507
Status : Answered

Comprehension:
3T T SHATIRY 3R BT  TADRI IR b 39 I & T81 e b quTg! 3=t A=t b
a9 3% a3 31 33 Hal & YRdg gRYE &1 aRa-l &1 389 HRTT TAHTRET gfagr &
TP HifapR! g1 g | *3fd 58 $Ug d¢ ¢ 98 g f3Ws | 818N HRd Ga 0 - ol o1 I' 37
TP Tel YR RT3 39 qufa 3 7 S foramt em it & Yo TR Bl Iuoid B SATSITE! BT
Haarel 51 fean| 3= S8 Ty o) fRufadt & aR & Iorar td Rfferar 3 feran & Ty &) @,
TIHTYT YT ST B 37eRg SRR |
fFafiRed usi & ST Suga MY & YR R ERTE-
SubQuestion No : 89
Q.89 fRrchelT HEA’ BT T TIT 82
Ans X 1. HlIs RYMT
X 2. AR BT
X 3. % B

& 4 TAHADBE

Question ID : 26433094504
Status : Answered
Chosen Option : 4
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Comprehension:

IS ST TR 3R B DRI IR b 4 I & T81 e b FquTg! 3=t A=t b
=T Y I e 36 31 390 dol H HRAG gRes Bt ol 1 35 R TSR Sfderd |
T HIRGR T §1 31d oE 3WE I8 §-TMR §-T 3T | 8181 HRd gasn = 3 o I 37
qTeT YR RUTY & 39 quia 3 7 o forat emfat & Yo TR & SIId AR SATSIET BT
Taaren a1 faan| 3=iR 39 Wi o fufaat & IR o Toar ud Rafferar 3 feras & Ty & W@,
TGUTYT JUT SRIHHT BT ST ST |

frafafad vl & SR SWad TR & YR W -

SubQuestion No : 90
Q.90 YRdg gheis A fraa srera wms?
Ans o 1. 95T 3R U
2< 2. TRYTST 3R TR
7< 3. T 3R TRUTT
7 4. WU 3R IeTHfaT

Question ID : 26433094506
Status : Answered
Chosen Option : 1

Comprehension:

& o Ot e =Ry, R =i a7, AFRies o 9¢, 93 &1 e 21 ok R s oA
(1) TRTSIEI TGP | gH AT 39 91d 1 ¢ b g fa3zf iR ¥ s g 3
) I SR B fafi Traraft &1 3R 9% A1y &) Sl HIST 3R ureie s &
@) HeI e Fifie 3R U @it Remeii &) sirawadar 7, R Sev-dedt a9 afS ok
@) B, R g e & e aR1-ART A & Sed Sl saRadsdrstt @ (5)
%mmmmwsﬁimﬁﬁmwﬁmﬂ%
SRt TR & SR R Fafifed ue & IR -
SubQuestion No : 91
Q.91 T % Read WM (1) ¥ e Iuged wes 71 g2
Ans X1 HIID
X 2. gt
3.
X 4T

Question ID : 26433094475
Status : Answered
Chosen Option : 3

Comprehension:
& o Ot e =Ry, R =fa o, AFRie 9 9¢, 93 &1 e 2 ok R s oo
(1) RO b | gH ATagHdl 59 91d BI § o gH faa=h e R I T J|dH o
) I HSR B! fafi maraft &1 3R I°F Ty &) Sl | 3R urere fawm &7
3) FY| g Fifie IR U uft Remail &) sirawadar 8, R Sev-det o afg ok
@) & R s e & e aR1-ART A & Sed ol savadsdrstt @ (5)
% forg yafed HH1E BRI iR SmuTdeT™ & forg T=g 1ff R I |
IRt TR & SR R Fafifed ue & IR -
SubQuestion No : 92

Q.92 T ¥ Read ®IF (2) ¥ RIT Suge weg 71 82

Ans X 1. TN

X 2. R

X3.d%
o 4. T75it

Question ID : 26433094476
Status : Answered
Chosen Option : 4
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Comprehension:

& o Ot e =Ry, R =i 9, AFRies o 9¢, 9 &1 e 2 ok R wgs oo
() WESTE G% | g ATagehdl 39 91d 31 ¢ [ g1 faceht sfiIeR I W o 3
) M HSR BT et Rarail &7 SR 3T Ty € ST HTST 3R U fas &1

3) HY| g it 3R U it fRemeii &) sirawadar 7, R Sev-ddt @ afg ok
@__ B e o e & o aR-ART fhRA & sed oot siravadarsii #t (5)

¥ forg yaTtd HHTE IR T SR SATUTddTe & forg =g ot X T |

Judad TR & YR R FoffEad ud & Iw ffre-

SubQuestion No : 93
Q.93 iR & o I (3) & g Iuge e 41 §1m?
Ans X 1 fR@R
X 2. SYTIHTI
o 3. T
X 4. 3B

Question ID : 26433094477
Status : Answered
Chosen Option : 4

Comprehension:
& o Ot e =Ry, R =i 7, AFRies o 9¢, 93 &1 e 2 ok R wgs oA
(1) RTSIEI TGP | gH AT 39 91d i ¢ b g fa3zf iR ¥ s g 3
) I SR B Al Traraft &1 3R I°F A1y &) Sl HIST 3R uryre fawme &1
3) HY| g Fifie 3R U it Remeil &) sirawadar 7, R Sev-dedt a9 afg ok
@) B R O e & ol ARI-ART fhRA & St oot Siawgddareii Bt (5)
% forg yafed HHrE HR T 3R SmuTdeTd & forg T=g off R T |
T TR & YR W FEfifad usl & IR -
SubQuestion No : 94
Q.94 T % Read WM (4) ¥ 1T Iuged weg 71 812
Ans X1 TbHIRI
2. [do™
X339
X 4. foAm=n

Question ID : 26433094478
Status : Answered
Chosen Option : 2

Comprehension:
& o Ot e =Ry, R =fta a7, AFRie 9 9¢, 93 &1 e 2 ok R s o
(1) RO b | gH ATagHdl 59 91d BI § b gH faa=h e R I T J|d o
) I HSR B! Al Imaraft &1 3R I°F WY &) S HIT 3R urere famm &7
3) HY| g Fifie IR U uft Remafl &) sirawadar 7, o Ieiv-det o afg 3R
@) & R s e & o AaR1-ART A & Sed o gt Bt (5)_
% forg yafed HH1E BRI 3R SmuTdeT™ & o T=g off R T |
IRt TR & SR R Fafifed ue & IR -
SubQuestion No : 95
Q.95 T ¥ Rrad ®IF (5) ¥ RIT Suge Weg 71 812
Ans ¢1_tﬂﬁ
X 2.9«
X 3.49gf®
X 4. &

Question ID : 26433094479
Status : Answered
Chosen Option : 1
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Comprehension:

I I T (1) BT 8| et 1t PR BT G2 vd I TS @1 U G R Bl
ot Yol ST el 81 TBepT F 4R 59 G H §HR HTH-UR G131 &7 (2) g, fagsgg
135 =G A 3R € TR Yareil 1 faseitg TR 71d & S gl 8 | GI1sh & 59 9% 9 A
HIfS ) ey, w1efes Td Hel E137l 1 U BT T (3) T 8 | AT U
FHER] BT YOI B ITelt P13l MY fad wardl! & (4) T ToR 3Tt 81 adTH uRewg
gﬂﬁﬂ%mwaﬁﬂgimmﬁﬁmlmwﬁﬁmwmé
(5) STET ]I
Iqad TR & YR W FEfiiad ugl & IR -

SubQuestion No : 96
Q.96 I & Y VI (1) & R Uy wreg g1-
Ans X 1. 3fcieH
o 2. Bifd
X 3. fasi®
X 4. Y=

Question ID : 26433094367
Status : Answered
Chosen Option : 2

Comprehension:
T I T (1) H1 g frelt ot UpR BT G2 vd Il TS @1 U Gad R Bl
off Dolt ST et & | dob-op! o X 9 g0 H GAR SHT-UT Fa1sl &7 (2) g, fagsag
13 GEmTE & 3R § TR Yareil 1 faseitg TR 77d B S gl 81 GIIsh & 39 9% 9 3
Fife B! Ay, Weid Td 7ot FE1sl I U o1 T (3) T 8| LI T
THER! &I TR 3 Tl IH1ar MY & waral & (4) T ToR 3MTelt § | aaAe ey
gﬁﬁ%mwwgg%,mmﬁmlmeﬁWW@ﬁ%
(5) SIRGEIE
TUYHRT TR & YR TR i us & S dfer-
SubQuestion No : 97
Q.97 i & Read WM (2) ¥ 1T Iugad wss gm-
Ans 1 3aR
X 2. @SR
X 3. UR
X 4. BaS

Question ID : 26433094368
Status : Answered
Chosen Option : 1

Comprehension:
T T I (1) F1 g frelt oft YR Bt g vd Inh Tre @t U Gad R Bl
ff Dol ST et & | dob-op! | HX 9 0 H GAR S-U Fa1l &1 (2) 8 fagsnag
13 gEm ot SR § IR TSl &1 faya-ia TR T | S 9ot 81 gEelt & 39 WHg 9 3=
Fife B! fayia, Wi Td 7ot Fa13ll I U o1 T (3) T 8 | LI v
THERT B GO B aTell Sh13al 31U fa aral & (4) T ToR 37t § | oA uRexy
o ST Sraug 9 &1 8, HeT SHfa=maiad T8t g1 | 3HTo GHTER] Bl HHICCR SHIHR Al &
o4 (5) BRG]
Judad TRITY & YR R FHofefEad ol & Iw ffvre-
SubQuestion No : 98

Q.98 i ¥ e R (3) ¥ 1T Sugad wss €I

Ans X 1. T3H
X 23s
o 3. T
X 4. AR

Question ID : 26433094369
Status : Answered
Chosen Option : 3
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Comprehension:

I I T (1) H1 31 {5t ot YR 3t gaa1 vd Il AeY @t U faaw W wel
ot Yol ST el 81 TBepT F 4R 59 G H §HR HTH-UR G131 &7 (2) g, fagsgg
135 =G A 3R € TR Yareil 1 faseitg TR 71d & S gl 8 | GI1sh & 59 9% 9 A
HIfS ) ey, w1efes Td Hel E137l 1 U BT T (3) T 8 | AT U
FHER] BT YOI B ITelt P13l MY fad wardl! & (4) T ToR 3Tt 81 adTH uRewg
gﬂﬁ%mwaﬁﬂ%ﬁ%mmqﬁmlmwﬁaﬁmwmé
(5 SMRET%I
I TR & MR W FEfiiad ugl & IR -

SubQuestion No : 99
Q.99 TRy % Rrad W (4) $ 1T Iugad wes gm-
Ans g1 BT
X 2. wiferat
X399

X 4 W

Question ID : 26433094370
Status : Answered
Chosen Option : 1

Comprehension:
FAEAF T (1) $1 51 {5 of UepR ot gaa1 vd anwht Ay @t U foas W wael
off Oolt ST et & | db-op! ¥ R 9 g0 H GHAR S{-UTE Fa1sl &7 (2) g, fageag
13 =G & 3R § TR Gameil 1 faueitg TR 77d B S gl 81 GIIeh & 39 9% 9 A
Fife 1 Ay, Wfd Td 7ot FE1sl I U o1 T (3) I 1 8| gET v
THMERI ST WG B el SH1sa MY G wardl & (4) B FoR 37t €1 IdAH ulesa
gﬂﬁ%mwm?%mmﬁmlmﬂnﬁﬁﬁmmwaﬁﬁ%
(5). SIRGEIE
ST T & SMUR W FEfied wet & IR fere-
SubQuestion No : 100
Q.100 77eri=T F e AT (5) ¥ T Suge 2reg B1TI-
Ans X 1. Tl
& 2. 54
% 3. T

X 4=

Question ID : 26433094371
Status : Answered
Chosen Option : 2

Section : General English

Q1 TIdentify the segment in the sentence which contains the grammatical error.

He wished he listened to his mother’s advice.
Ans X' 1. to his
« 2. he listened
X 3. He wished
X 4. mother’s advice.

Question ID : 26433094627
Status : Answered
Chosen Option : 2
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Q.2

Select the correct passive voice for the given sentence.

She invited me for the party.

Ans % 1. Tam inviting her for the party.

« 2. I'was invited for the party.

« 3. I have invited her for the party.

X 4. Tam invited for the party.

Question ID : 26433094637
Status : Answered
Chosen Option : 2

Q3

Ans

Select the most appropriate indirect form of the given sentence.

Mohan said, “Rakesh always means what he says.”

X 1. Mohan said that Rakesh always meant what he says.
« 2. Mohan said that Rakesh always means what he says.
# 3. Mohan told that Rakesh always means what he says.
X 4. Mohan said that Rakesh always means what he said.

Question ID : 26433094538
Status : Answered
Chosen Option : 3

Q4

Ans

Select the passive active form of the given sentence.

The school not only fined him but also expelled him for misbehavior.
X1

He has not only been fined by the school but has also expelled for misbehavior.
x 2.

He is not only fined by the school but also expelled for misbehavior.
X 3.

He will not only be fined by the school but will also be expelled for misbehavior.
& 4.

He was not only fined by the school but also expelled for misbehavior.

Question ID : 26433094534
Status : Answered
Chosen Option : 4
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Q.5

Ans

Select the most appropriate option to fill in the blank.

Before going on a trip, I always preparean _ of things I would need there.
« 1. Inventory

X 2. proposal

& 3. itinerary

< 4. schedule

Question ID : 26433094548
Status : Answered
Chosen Option : 1

Q.6

Ans

Select the correct direct speech for the given sentence.

Mona said to Preeti, “I am going to Kolkata next week.”

X 1. Mona told Preeti that she was going to Kolkata next week.
2

Mona told Preeti that she was going to Kolkata the following week.
< 3. Mona told Preeti that I was going to Kolkata next week.

X 4.
Mona told Preeti that I am going to Kolkata the following week.

Question ID : 26433094643
Status : Answered
Chosen Option : 2

Q.7

Ans

Select the most appropriate antonym of the given word.

BLAME

# 1. condemn

< 2. criticize

« 3. compliment

X 4. complain

Question ID : 26433094558
Status : Answered
Chosen Option : 3
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Q.8 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. Rising temperatures and drought conditions have caused serious problems for human populations all over the
world.

B. One area particularly affected by drought has been the central Spanish province of Caceres, where water levels in
the Valdecanas reservoir have dropped nearly 30%,

C. Some dramatic changes in landscape brought on by lowering water levels, though, have also led to a number of
notable discoveries.

D. As aresult, a fascinating site from near pre-history has been recovered here, as per Reuters.

Ans X 1. BDAC
<2 ADCB
« 3. ACBD
<4 DBAC

Question ID : 26433094594
Status : Not Answered
Chosen Option : --

Q9 Select the most appropriate synonym of the given word.

PREROGATIVE
X 1. obligation

Ans
X 2. duty
« 3. privilege

X 4. liability

Question ID : 26433094556
Status : Answered
Chosen Option : 3

Q.10 Arrange the sentences A-D in the correct sequence to form a coherent paragraph. S1 and S6 are the first and last
sentences.

S1 The Trojan War is one of the most famous wars in history.

A. What may not be familiar, however, is the story of how the war began.

B. All of the gods and goddesses had been invited to the wedding celebration in Troy except Eris, goddess of discord.
C. It is well known for the 10-year duration, for the heroism of a number of legendary characters, and for the Trojan
horse.

D. According to Greek myth, the strife between the Trojans and the Greeks started at the wedding of Peleus and Thetis.

S6 To take revenge on those who had slighted her. Eris decided to cause a skirmish.

Ans 1. CADB
< 2. ABDC
< 3. CDBA
<4 ADCB

Question ID : 26433094695
Status : Answered
Chosen Option : 3
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Q@M Choose the correct antonym for the given word.
mitigate
Ans X 1. abate

« 2. agitate

X 3. placate

K 4. sedate

Question ID : 26433094665
Status : Answered
Chosen Option : 3

Q12 Select the correct active form of the given sentence.

My grandfather built this water-tank in 1950.

Ans 1. This water-tank was built by my grandfather in 1950.
X 2. This water-tank has been built by my grandfather in 1950.
X 3. My grandfather had been building this water-tank in 1950.
X 4. This water-tank was being built by my grandfather in 1950.

Question ID : 26433094532
Status : Answered
Chosen Option : 1

Q13 Select the correct meaning of the given idiom.

go through a rough patch
Ans X 1. to take a bad road

« 2. to experience problems

< 3. to meet with an accident
X 4. to be lost

Question ID : 26433094669
Status : Answered
Chosen Option : 2
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Q.14

Ans

Select the most appropriate synonym of the given word.

INCIDENT
< 1. aspect
« 2. event
X 3. extent
X 4. facet

Question ID : 26433094552
Status : Answered
Chosen Option : 2

Q.15

Ans

Select the correct passive form of the given sentence.

You always keep me waiting.

X 1. T'am always being kept waiting by you.
X 2. I have always been kept waiting by you.
X 3. You are always kept waiting by me.

« 4. I am always kept waiting by you.

Question ID : 26433094536
Status : Answered
Chosen Option : 1

Q.16

Ans

Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. We have spent over 4000 hours guiding over the past 8 years.

B. The Pilanesberg National Park in South Africa is one of the best wildlife experiences in terms of the abundance
of wildlife that can be found there.

C. We've witnessed the gore and bloodshed of a lion taking down an impala.
D. And yes we have basically seen it all.

X1 ACBD
X< 2. BCDA
X< 3. CABD
« 4 BADC

Question ID : 26433094598
Status : Answered
Chosen Option : 2
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Q17 Arrange the sentences in the correct sequence to form a coherent paragraph.

A. The complex had a huge tree growing right in the centre of the compound.
B. One day a builder decided to chop it off and build a swimming pool in its place.
C. The residents hung swings on it, fed the birds and squirrels that resided in it.

D. Several families lived in a posh residential complex.
Ans 1. DACB

X 2. DABC

X 3. ABDC

X4 CDBA

Question ID : 26433094699
Status : Answered
Chosen Option : 1

Q18 gelect the correct active form of the given sentence.

It should be understood by people that it is not always possible to win.
Ans X 1. People can understand that it is not always possible to win.

&2
People should understand that it is not always possible to win.

x 3.
People need to understand that winning is not always possible.

X 4.
People have to understand that it was not always possible to win.

Question ID : 26433094530
Status : Answered
Chosen Option : 2

Q.19 1dentify the segment in the sentence which contains the grammatical error.

Not only did he sell his house but as well squandered his father’s money.
Ans X1 Not only did he

« 2. but as well
# 3. sell his house
X 4. squandered his father’s money.

Question ID : 26433094629
Status : Answered
Chosen Option : 2
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Q20 Fill in the blank with the most appropriate word.

The refugees to us for help.

Ans X' 1. demanded

« 2. appealed
X 3. appeased
X 4. desired

Question ID : 26433094653
Status : Answered
Chosen Option : 2

Q.21 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

I read a novel by Sydney Sheldon within my illness.
Ans 1. within my illness.

X 2. by Sydney Sheldon

X 3. No error

A 4. Iread a novel

Question ID : 26433094520
Status : Answered
Chosen Option : 1

Q.22 Substitute the underlined segment with the most appropriate option. If no substitution is required, select *No
substitution’.

Eight African cheetahs are freely to reach Kuno Palpur National Park on 17tk September.

Ans X 1. are exactly

o 2. are likely

< 3. No substitution
X 4. are fairly

Question ID : 26433094707
Status : Answered
Chosen Option : 2
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Q.23

Select the most appropriate indirect form of the given sentence.

Father said, “They are late for the train.”

Ans X 1. Father told that they are late for the train.
X 2. Father said that they are late for the train.
< 3. Father told that they were late for the train.
« 4. Father said that they were late for the train.
Question ID : 26433094542
Status : Answered
Chosen Option : 3
Q24 gelect the correct indirect speech for the given sentence.
He said, “Have I acted wisely?”
Ans 1. He asked if he had acted wisely.
X 2. He asked if he has acted wisely.
X 3. He asked if he acted wisely.
X 4. He asked that if he had acted wisely.
Question ID : 26433094647
Status : Answered
Chosen Option : 1
Q.25 Substitute the underlined segment with the most appropriate option. If no substitution is required, select *No
substitution’.
India’s rice exports rised sharply in the last quarter.
Ans

< 1. risen
X 2. No substitution

X< 3. have rose
4. Iose

Question ID : 26433094705
Status : Answered
Chosen Option : 1
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Ans

Q.26 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select ‘no substitution required”.

Avika was delighting from the gift you brought for her.

X 1. has delighted about

X 2. no substitution required

« 3. was delighted with
X 4. is delighted from

Question ID : 26433094600
Status : Answered
Chosen Option : 3

Q.27

Ans

Select the correct indirect speech for the given sentence.

He will say, “I am ready for school.”

X 1. He says that I am ready for school.

« 2. He will say that he is ready for school.
# 3. He will say that he was ready for school.
X 4. He said that he was ready for school.

Question ID : 26433094649
Status : Answered
Chosen Option : 2

Q.28

Ans

Select the most appropriate synonym of the given word.

RUSHED
X 1. crushed
< 2. slowed

« 3. pressed
X 4. packed

Question ID : 26433094554
Status : Answered
Chosen Option : 2
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Q29 gelect the most appropriate idiom to fill in the blank.

IThave oftenseenher  her classmates over small issues.
Ans X 1. taking stock of
X 2. taking time out
« 3. picking a quarrel with
X 4. picking her way to

Question ID : 26433094566
Status : Answered
Chosen Option : 3

Q30 gelect the correct active voice for the given sentence.

Paddy will have been sown by the farmers before the rains.
Ans X 1. The farmers will sow the paddy before the rains.
X 2. The farmers will be sowing the paddy before the rains.
« 3. The farmers will have sown the paddy before the rains.

X 4. The farmers would sow the paddy before the rains.

Question ID : 26433094635
Status : Answered
Chosen Option : 4

@31 Choose the correct synonym for the given word.

cordial

Ans 1. gracious

X 2. greedy
X 3. grateful
X 4. gross

Question ID : 26433094657
Status : Answered
Chosen Option : 1
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Q32 gelect the correct active form of the given sentence.

One to one mentorship is provided to the students by our Academy.
Ans 7 1.

Our Academy provides one to one mentorship to the students.

x 2.

Our Academy is providing one to one mentorship to the students.

X 3.

Our Academy has provided one to one mentorship to the students.

X 4.

Our students are providing one to one mentorship to the Academy.

Question ID : 26433094528
Status : Answered
Chosen Option : 1

@33 Choose the correct antonym for the given word.

faint
Ans x 1. hazy
« 2. firm

< 3. dull
<4 dim

Question ID : 26433094663
Status : Answered
Chosen Option : 1

Q34 Choose the correct synonym for the given word.

squalor
Ans X 1. treachery
« 2. filthiness
X 3. splendour

X 4. luxury

Question ID : 26433094659
Status : Not Answered
Chosen Option : --
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Q.35

Select the most appropriate meaning of the given idiom.

stand your ground

Ans

Ans X 1. be in a comfortable situation

X 2. stay at one place

X 3. support your friends

« 4. refuse to change your opinion

Question ID : 26433094564
Status : Answered
Chosen Option : 4

Q.36

Identify the segment in the sentence which contains the grammatical error.

Your sister will look after vour son in your absence, isn’t it?
X 1. in your absence,

X 2. look after vour son

o 3 isn’t it?

&< 4. Your sister will

Question ID : 26433094625
Status : Answered
Chosen Option : 3

Q.37

Ans

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘no substitution required”.

She got all wet even though she was carrying an nmbrella.

# 1. in case

« 2. no substitution required
X 3. because

X 4 even if

Question ID : 26433094602
Status : Answered
Chosen Option : 2
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Q.38

Ans

Fill in the blank with the most appropriate word.

Modern man has more ~ and less time.
« 1. amenities

X 2. faculties

X 3. elevations

A 4. renovations

Question ID : 26433094655
Status : Answered
Chosen Option : 1

Q.39

Ans

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a
meaningful and coherent paragraph.

P. Its role in human nutrition was not fully known.

Q. This has resulted in a better appreciation of the role of fibrous food in human health.

R. Later research has thrown light on many other ingredients that are digested by man and have more fibres.

S. In early days, people only knew that this fibre prevented constipation.

X 1. PSQR
« 2. SPRQ
X 3. QRSP
X 4. RSQP

Question ID : 26433094697
Status : Answered
Chosen Option : 2

Q.40

Ans

Select the most appropriate indirect form of the given sentence.

Mother said to Shivani, “Don’t be nervous. You will be alright.”

<1
Mother told Shivani that she should not be nervous and that she will be alright.

2.

Mother told Shivani not to be nervous and comforted her by saying that she would be alright.

< 3
Mother asked Shivani why she was nervous and told her that she would be alright.

X 4.
Mother warned Shivani not to be nervous and said that you will be alright.

Question ID : 26433094544
Status : Answered
Chosen Option : 2
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Q41 Select the most appropriate direct form of the given sentence.

Maya asked Shashi if she was enjoying her stay in Paris.
Ans X 1. Maya said to Shashi. “Did you enjoy your stay in Paris?”
X 2. Maya said to Shashi. “She was enjoying her stay in Paris.”

3
Maya said to Shashi. “*Are you enjoying your stay in Paris?”

x 4.
Maya said to Shashi. “You have been enjoying your stay in Paris.”

Question ID : 26433094540
Status : Answered
Chosen Option : 3

Q.42 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The

first and the last sentences (S1/56) have been given.

S1. Going to the Sun Road is one of Glacier National Park’s biggest attractions, and is reputedly one of the most scenic

drives in the world.

A. There are plenty of places along the way to pull over and appreciate the view.

B. Its 50-mile length is fully paved but with twisting turns and two narrow lanes, requires careful driving.
C. Grizzly bears, bighorn sheep. and mountain goats can also be spotted from the road.

D. 1t takes around two hours to drive the full route without stopping.

S6. Parts of the road are closed throughout the winter months for safety as it is exceptionally difficult to snowplow

there.

Ans X 1. DBCA
« 2. BDAC
X< 3. BACD
<4 ACBD

Question ID : 26433094592
Status : Answered
Chosen Option : 3

Q.43 Identify the segment in the sentence which contains the grammatical error.

It is her knowledge of computers that interest me.
Ans X 1. knowledge of
X 2. computers that

< 3 Ttisher
« 4. interest me.

Question ID : 26433094623
Status : Answered
Chosen Option : 4
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Q44 gelect the most appropriate option to fill in the blank.

Both the parties willbe  benefitted by this deal in the long mn.
Ans 1 mutually

X 2. unilaterally

« 3. agreeably

X 4. respectively

Question ID : 26433094550
Status : Answered
Chosen Option : 1

Q45 Select the correct indirect speech for the given sentence.

She said to us. “T am hungry. Let’s eat something.”

Ans 7 1.
She said that she was hungry and suggested that we should eat something,

~ 2.
She said that she was hungry and suggested us that they should eat something.

X 3.
She said that I am hungry and suggested that we should eat something.

x4
She said that she was hungry and suggested that let’s eat something.

Question ID : 26433094651
Status : Answered
Chosen Option : 1

Q46 gelect the correct active voice for the given sentence.

The job may be done by you.
Ans X 1. You might do the job.
X 2. You may be doing the job.
« 3. You may do the job.
& 4. You might have done the job.

Question ID : 26433094633
Status : Answered
Chosen Option : 4
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Q47 Select the correct passive voice for the given sentence.

How can vou light a fire if vou have no matches?
Ans 1. How is a fire being lit if you have no matches?
X 2. How has a fire been lit if you have no matches?
« 3. How can a fire be lit if you have no matches?

X 4. How will a fire be lit if you have no matches?

Question ID : 26433094641
Status : Answered
Chosen Option : 3

Q.48 Arrange the sentences in the correct sequence to form a coherent paragraph.

A. Their work is both unrecorded and largely unrecognised, even though in some parts of the world they
handle as much as 20% of all waste.

B. Among those suffering from the global recession are millions of workers, who are not even included in
the official statistics

C. In the developed countries they are the preferred ones since they recycle waste much more cheaply and
efficiently than government or private corporations can.

D. These are the trash pickers, sorters and traders who extricate paper, cardboard and plastics from garbage
heaps and prepare them for reuse.

Ans X 1. DACB
<2 DCAB
« 3. BDAC
<4 BCAD

Question ID : 26433094703
Status : Answered
Chosen Option : 3

Q.49 Select the segment which has a grammatical error in the given sentence. If there is no error., select No error'.

One of my friends have a house in Shimla.

Ans 1. friends have a house
< 2. No error
X 3. One of my

A 4 in Shimla.

Question ID : 26433094518
Status : Answered
Chosen Option : 1
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Q.50 Select the segment which has a grammatical error in the given sentence. If there is no error, select 'No error'.

Ans

We are going for a swim in the Ganga if you like it or not.
X 1. No error

X 2. for a swim in the Ganga

v 3. if you like it or not.

X 4. We are going

Question ID : 26433094524
Status : Answered
Chosen Option : 3

Q.51

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. '
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 51
Select the most appropriate option to fill in the blank
No. 1.
« 1. moment
X 2. minute
/3. second
X4 tick

Question ID : 26433094579
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 52

Q52 gelect the most appropriate option to fill in the blank
No. 2.

Ans  X'1. become

< 2. becomes

X 3. to becoming

« 4. became

Question ID : 26433094580
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 53

Q33 gelect the most appropriate option to fill in the blank
No. 3.

Ans X 1. slight
X 2. petty
« 3. major

#< 4. minor

Question ID : 26433094581
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 54

Q34 gelect the most appropriate option to fill in the blank
No. 4.

Ans 1. understand
X 2. know
X 3. remember
X 4. recall

Question ID : 26433094582
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 55

Q35 gelect the most appropriate option to fill in the blank
No. 5.

Ans 1. appear
X 2. appearing
« 3. appeared
X 4. appears

Question ID : 26433094583
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 56

Q36 gelect the most appropriate option to fill in the blank

No. 6.
Ans  X'1. advents
X 2. attendances
3. appearances
X 4. arrivals
Question ID : 26433094584
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.
It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 57

Q57 Select the most appropriate option to fill in the blank
No. 7.

Ans  X1. when
2. after
X 3. before
X 4. until

Question ID : 26433094585
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 58

Q38 gelect the most appropriate option to fill in the blank
No. 8.

Ans X' 1. stressed

X 2. quieted
X 3. repressed

« 4. composed

Question ID : 26433094586
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 59

Q59 gelect the most appropriate option to fill in the blank
No. 9.

Ans X 1. him
2 his
# 3. their
X 4. one’s

Question ID : 26433094587
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The
confluence of these two 3. life events is not something most of us will ever 4. .
So, it's no wonder that the grieving monarch 5 to be very emotional during one of his
first public 6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked
closely, you could see tears glistening in 9. eyes. The moment that moved him so
deeply was when onlookers shouted, "God 10. the King." The words are being
chanted everywhere he goes.

SubQuestion No : 60

Q60 gelect the most appropriate option to fill in the blank
No. 10.

Ans 1. Save
X 2. Rescue
X 3. Defend
X 4. Liberate

Question ID : 26433094588
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on

21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents

(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 61
Q61 Select the most appropriate option to fill in blank

No.l.
Ans X 1. prepared
X 2. marked

« 3. foreseen
X 4. scheduled

Question ID : 26433094684
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 62

Q62 gelect the most appropriate option to fill in blank
No.2.

Ans 1. abdicated
X 2. retired
X 3. resigned
X 4. abstained

Question ID : 26433094685
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on

21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 63
Q63 gelect the most appropriate option to fill in blank
No.3.

Ans X' 1. holder
X 2. payee
& 3. master
« 4. heir

Question ID : 26433094686
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 64

Q64 gelect the most appropriate option to fill in blank
No.4.

Ans s 4t
X2 of
<3 on
X4 by

Question ID : 26433094687
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 65

Q65 Select the most appropriate option to fill in blank
No.>.

Ans X 1. spend

X 2. spends

« 3. spent

X 4. was spending

Question ID : 26433094688
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 66

Q66 gelect the most appropriate option to fill in blank
No.o.

Ans X 1. denied
# 2. abandoned
X 3. returned
« 4. rejected

Question ID : 26433094689
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on

21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 67

Q67 gSelect the most appropriate option to fill in blank
No.7.

Ans < 1. imagine
X 2. identify
X 3. explain

« 4. appreciate

Question ID : 26433094690
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 68

Q68 gelect the most appropriate option to fill in blank
No.8.

Ans X 1. serenity
X 2. simplicity
X 3. prosperity

o 4. adversity

Question ID : 26433094691
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on

21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9)

letters with her third cousin, Philip, Prince of Greece, who

was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 69

Q69 gelect the most appropriate option to fill in blank
No.9.

Ans % 1. replaced
X 2. reviewed
X 3. compared

« 4. exchanged

Question ID : 26433094692
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on
21 April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents
(6) suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8) .

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who
was serving in the Royal Navy. Their romance (10) and the couple married at
Westminster Abbey on 20 November 1947, with the prince taking the title of Duke of
Edinburgh.

SubQuestion No : 70

Q70 Select the most appropriate option to fill in blank
No.10.
Ans X 1. accomplished
« 2. blossomed
X 3. exploded
# 4. shriveled
Question ID : 26433094693
Status : Answered
Chosen Option : 2
Q71

Select the correct passive voice for the given sentence.

Let her lead the team.
Ans X 1. Let her team lead her.

& 2. The team should be led by her.
« 3. Let the team be led by her.
< 4. She should have led the team.

Question ID : 26433094639
Status : Answered
Chosen Option : 2
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Q.72 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The
first and the last sentences (S1/56) have been given.

S1. Aman and a young teenage boy checked into a hotel in Delhi and were shown to their room.

A. The staff again noticed that the two guests were very quiet, and that the boy seemed uninterested in his food.
B. The receptionist noted the quiet manner of the guests and the pale appearance of the boy.
C. He didn’t want to eat anything.

D. Later, the man and boy went to have their dinner at the restaurant.

S6. After having their dinner, the boy went to his room and the man went to the receptionist and asked her to let him

meet the manager.

Ans X 1. DBAC

<2 ABCD
« 3. BDAC
<4 CABD

Question ID : 26433094590
Status : Answered
Chosen Option : 3

Q73 Select the option that completes the given idiom correctly.

A bird in hand is worth

Ans 1. two in the bush
X 2. many in the forest

X 3. two in the ground

< 4. some in the tree

Question ID : 26433094562
Status : Answered
Chosen Option : 2

Q.74 Identify the segment in the sentence which contains a grammatical error. If there is no error, then select the option No

error’.

Jawaharlal Nehru was a scholar as well a statesman.

Ans X' 1. No error
« 2. as well a statesman
X 3. Jawaharlal Nehru
X 4. was a scholar

Question ID : 26433094526
Status : Answered
Chosen Option : 1
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Q.75

Select the most appropriate indirect form of the given sentence.

Mrs Kapoor said to Bhawna, “Put these woollens in the sun today.”

Ans X 1.
Mrs Kapoor told Bhawna that vou should put those woollens in the sun that day.
x 2.
Mrs Kapoor told Bhawna that put these woollens in the sun today.
x 3.
Mrs Kapoor told Bhawna to put these woolens in the sun that day.
o 4.
Mrs Kapoor told Bhawna to put those woollens in the sun that day.
Question ID : 26433094546
Status : Answered
Chosen Option : 4
Q.76 Identify the segment in the sentence which contains a grammatical error.
If T were a cartoonist, I have drawn cartoons of all my friends.
Ans 1. all my friends.
« 2. T have drawn
« 3. cartoons of
X 4 If I were
Question ID : 26433094631
Status : Answered
Chosen Option : 2
Q.77 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.
A. Mohenjo Daro is an ancient civilization in the heart of Pakistan that cropped up on the Indus river 4,500 years
ago.
B. It was discovered in the 1920s after mysteriously disappearing 4,000 years ago. according to National
Geographic.
C. The immaculately planned city, with endless rows of baked brick walls, was considered the "first great urban
center" of the Indus Valley civilization and had complex drainage systems to address ancient floods.
D. Remnants of the city include bronze statues, pottery and a pool called the Great Bath.
Ans

< 1. ACBD
< 2. CDAB
X< 3. BADC
4 ABDC

Question ID : 26433094596

Status : Answered

Chosen Option : 4
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Q.78

Select the correct meaning of the given idiom.

wear someone out

Ans

Ans X' 1. to boast
< 2. to ridicule
X 3. to pretend
« 4 to exhaust
Question ID : 26433094667
Status : Answered
Chosen Option : 3
Q79 Select the correct direct speech for the given sentence.
She exclaimed with wonder that it was a wonderful piece of art.
Ans X 1. She said, “It was a wonderful piece of art.”
X 2. She said, “Alas! A wonderful piece of art.”
« 3. She said, “Wow! What a wonderful piece of art.”
X 4. She said, “What a wonderful piece of art it was?”
Question ID : 26433094645
Status : Answered
Chosen Option : 3
Q.80

Arrange the sentences in the correct sequence to form a coherent paragraph.

A.only 10% of global gold deposits contain sufficient gold to justify further development.
B. The likelihood of a discovery leading to a mine being developed is very low.

C. It requires significant time, financial resources and expertise in many disciplines.

D. Gold mine exploration is challenging and complex.

X 1. DABC
« 2. DCBA
X< 3. BDAC
<4 ABCD

Question ID : 26433094701
Status : Answered
Chosen Option : 2
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Q81 Choose the correct synonym for the given word.

threaten
Ans X 1. commend
X 2. adjudicate
« 3. intimidate
X 4. alleviate

Question ID : 26433094661
Status : Answered
Chosen Option : 2

Q82 gelect the correct meaning of the given idiom.

with a fine tooth comb
Ans » 1 to examine in great detail
X 2. to watch from a distance
X 3. to ignore someone’s faults

X 4. to win by a huge margin

Question ID : 26433094671
Status : Answered
Chosen Option : 1

Q.83 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

My brother has been waiting for his placement since two months.

Ans X 1. for his placement

« 2. since two months.
X 3. My brother has been waiting

< 4. No error

Question ID : 26433094522
Status : Answered
Chosen Option : 2
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Q84 Select the most appropriate antonym of the given word.

COGENT
X 1. compelling
< 2. forceful

« 3. impotent

Ans

X 4. persuasive

Question ID : 26433094560
Status : Answered
Chosen Option : 3

Q85 Select the correct active voice for the given sentence.

Is too much being taken for granted?
Ans X 1. Do they take too much for granted?
X 2. Did they take too much for granted?
« 3. Have they taken too much for granted?

« 4. Are they taking too much for granted?

Question ID : 26433094636
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in
expanding forest cover. As of 2021, according to data from the Forest Research Institute, the
district had just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four saplings
per square meter, using native varieties adapted to local conditions, it works effectively
irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more Carbon-
dioxide as compared to conventional forests.

SubQuestion No : 86
Q86 ywhat is the passage about?

Ans 1. The Forests in Punjab
X 2. Benefits of micro forests
« 3. Micro forest project in a Punjab village
X 4. The Miyvawaki method

Question ID : 26433094618
Status : Answered
Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in
expanding forest cover. As of 2021, according to data from the Forest Research Institute, the
district had just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four saplings
per square meter, using native varieties adapted to local conditions, it works effectively
irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more Carbon-
dioxide as compared to conventional forests.

SubQuestion No : 87

Q87 The micro forest project was started in Fazilka district
mainly because:

Ans 1. the district had the lowest green cover in Punjab
X 2. the residents of the district had a sense of belongingness

the district administration wanted to utilize
the unused land in the village

X 4. the district had arable land available for the forest

x 3.

Question ID : 26433094621
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in
expanding forest cover. As of 2021, according to data from the Forest Research Institute, the
district had just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four saplings
per square meter, using native varieties adapted to local conditions, it works effectively
irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more Carbon-
dioxide as compared to conventional forests.

SubQuestion No : 88
Q88 The Miyawaki method of planting micro forest
was designed by:
Ans 1 A Japanese scientist

X 2. An officer from the district administration
X 3. the scientists of the Forest Research Institute

X 4. the villagers of Kuharianwali village

Question ID : 26433094619
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in
expanding forest cover. As of 2021, according to data from the Forest Research Institute, the
district had just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four saplings
per square meter, using native varieties adapted to local conditions, it works effectively
irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more Carbon-
dioxide as compared to conventional forests.

SubQuestion No : 89
Q89 yWhat kind of a passage is it?

Ans X 1. a magazine article

« 2. a news item
X 3. a student’s notes

X 4. a survey report

Question ID : 26433094617
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in
expanding forest cover. As of 2021, according to data from the Forest Research Institute, the
district had just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four saplings
per square meter, using native varieties adapted to local conditions, it works effectively
irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more Carbon-
dioxide as compared to conventional forests.

SubQuestion No : 90

Q90 ywhich of the following is NOT necessary to grow
a micro forest?

Ans X 1. Native varieties of saplings adapted to local conditions

" 2. Arable land and sufficient rainfall

x 3. Planting three or four varieties of saplings in a fairly
dense manner

< 4. Eight to nine months of care of the planted saplings

Question ID : 26433094620
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 91
Q91 After reading the passage one can infer that it is:

Ans % 1. a Niti Aayog report
X 2. a survey report
X 3. a magazine article

« 4. anews item about a Niti Aayog report

Question ID : 26433094605
Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 92
@92 The passage is mainly about:
Ans X 1. India’s truck market
X 2. India’s present day truck market

X 3. Loans for Zero emission trucks
« 4. Future of India’s truck market

Question ID : 26433094606
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 93
@93 yWhat has NOT been suggested by the Niti Aayog report
as a financial solution for financing Zero Emission trucks?

Ans 1. greater tax benefits

X 2. better-informed depreciation criteria

X 3. alternative credit evaluations

X 4. tailored loan products

Question ID : 26433094607
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 94

Q9 “fieling the nation’s economy and transportation emissions”

Here the word “fueling” means:
Ans 1. depleting
X 2. servicing
« 3. Inciting

X< 4 filling up

Question ID : 26433094609
Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) -- including battery electric trucks (BETs) and fuel cell electric
trucks (FCETSs) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 95
@95 By 2050, the number of trucks is expected to be:
Ans  X1. 4.6 billion
X 2. 4 million
« 317 million
# 4. 9.6 million

Question ID : 26433094608
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos,
and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a
speaker who is trying to convince an audience to vote for him might say that he alone can
save the country from a terrible war. These words are intended to fill the audience with fear,
thus making them want to vote for him. Similarly, a charity organization that helps animals
might show an audience pictures of injured dogs and cats. These images are intended to fill
the viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 96

Q9 Which of the following is NOT true?
Ans X 1. Aristotle has defined the tools of persuasion.

X 2. You can be persuaded by a person whom you trust.
2 3. Evoking pity can help charities.

« 4. Ethos can build logos.

Question ID : 26433094717
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos,
and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a
speaker who is trying to convince an audience to vote for him might say that he alone can
save the country from a terrible war. These words are intended to fill the audience with fear,
thus making them want to vote for him. Similarly, a charity organization that helps animals
might show an audience pictures of injured dogs and cats. These images are intended to fill
the viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 97

Q97 gelect the correct synonym of
credible

Ans X 1. interesting

« 2. dependable

X 3. terrible

X 4. effective

Question ID : 26433094720
Status : Answered
Chosen Option : 2
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos,
and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a
speaker who is trying to convince an audience to vote for him might say that he alone can
save the country from a terrible war. These words are intended to fill the audience with fear,
thus making them want to vote for him. Similarly, a charity organization that helps animals
might show an audience pictures of injured dogs and cats. These images are intended to fill
the viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 98

@98 The passage talks of the art of:

Ans 1. persuasion

# 2. oration
& 3. selection

X 4. connection

Question ID : 26433094718
Status : Answered
Chosen Option : 1
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos,
and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a
speaker who is trying to convince an audience to vote for him might say that he alone can
save the country from a terrible war. These words are intended to fill the audience with fear,
thus making them want to vote for him. Similarly, a charity organization that helps animals
might show an audience pictures of injured dogs and cats. These images are intended to fill
the viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 99
Q99 According to the passage, the most effective tool of
persuasion is

Ans pathos, because human beings are most swayed by

" emotions

ethos, because you cannot persuade an audience that

2
"2 does not trust you

« 3. a combination of ethos, logos and pathos

X 4. logos, because it can also be used to build ethos

Question ID : 26433094719
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos, pathos,
and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a
speaker who is trying to convince an audience to vote for him might say that he alone can
save the country from a terrible war. These words are intended to fill the audience with fear,
thus making them want to vote for him. Similarly, a charity organization that helps animals
might show an audience pictures of injured dogs and cats. These images are intended to fill
the viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 100
Q100 1 6005 makes use of:

Ans X 1. emotions and feelings

« 2. facts and statistics
Z 3. brand commercials

X 4. trust and sincerity

Question ID : 26433094716
Status : Answered

Chosen Option : 2
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